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Summary dtatistics - qualitative results
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Key: >>> ... marks correct (expected) result N ... number of the results
> ... marks conditionally correct (acceptable) result Nre ... relative number of the results
+ ... marksthe result not evaluated
Test
Sanpl e G oup N Result N el
Set 1
(420) Anti-gliadin 1gG (native)
Al Al results >>> 2 Negative 100 %
Total per sanple: n =2 Success: 100 % -
Bl Al results >>> 2 Positive 100 %
Total per sanple: n =2 Success: 100 % -
Total success 100 %
(421) Anti-gliadin 1gA (native)
Al Al results >>> 1 Negative 50 %
1 Inconclusive result (borderline) 50 %
Total per sanple: n =2 Success: 50 % -
Bl Al results >>> 2 Positive 100 %
Total per sanple: n =2 Success: 100 % -
Total success: 50 %
(594) Anti-gliadin 1gG (deamidated)
Al Al results >>> 16 Negative 89%
1 Inconclusive result (borderline) 56 %
1 Positive 56 %
Total per sanple: n = 18 Success: 89 % -
Bl Al results 2 Negative 11%
>>> 16 Positive 89%
Total per sanple: n = 18 Success: 89 % -
Total success. 78 %
(595) Anti-gliadin IgA (deamidated)
Al Al results >>> 16 Negative 94 %
1 Positive 59%
Total per sanple: n = 17 Success: 94 % -
Bl Al results >>> 17 Positive 100 %
Total per sanple: n = 17 Success: 100 % -
Total success. 94 %
Set 2
(424) Anti-endomysium I gA
A2 Al results >>> 11 Negative 100 %
Total per sanple: n = 11 Success: 100 % -
B2 Al results >>> 11 Positive 100 %
Total per sanple: n = 11 Success: 100 % -
Total success 100 %
(425) Anti-transglutaminase | gA
A2 Al results >>> 16 Negative 94 %
1 Inconclusive result (borderline) 59%
Total per sanple: n = 17 Success: 94 % -
B2 Al results >>> 17 Positive 100 %
Total per sanple: n = 17 Success: 100 % -
Total success. 94 %
Set 3
(592) Anti-Sacchar omyces cerevisiae | gA
A3 Al results >>> 13 Positive 100 %
Total per sanple: n = 13 Success: 100 % -
B3 Al results >>> 13 Negative 100 %
Total per sanple: n = 13 Success: 100 % -
Total success 100 %
(593) Anti-Sacchar omyces cerevisiae |gG
A3 Al results >>> 11 Positive 100 %
Total per sanple: n = 11 Success: 100 % -
B3 Al results >>> 11 Negative 100 %
Total per sanple: n = 11 Success: 100 % -
Total success 100 %
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